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Calculo I11(521227)

1.

A ={(z,y) eR?:0< (x —2)2 +3> < 1}

A" ={(z,y) eR*: 0< (2 —2)? + 12 < 1} U{(z,y) eR?*:z =2 Ay =0,

n e N}U{(0,0)}
) 0<(z—2)*+y*<1}U{(0,0)}

x,giERQ:(x—2)2—|—y2:1}u{(x,y)€R2:x:%/\y:0,

B ={(z,y,2) € R¥: 2> 3}

B~ ={(x,y,2) e R®: 2>3}U{(0,0,2)} U{(2,9,2) eR*:0< 2< 1,z =0Ay =0}
B ={(z,y,2) eR®*: 2 >3} U{(z,y,2) ER*: 0< 2< 1,2 =0Ay =0}

Fr(B) ={(z,y,2) e R®: 2 =3} U{(0,0,2)} U{(7,9,2) eR*: 0< 2< 1,z =0 Ay =0}

C'={zeR:5<z<8}
C-={zeR:5<z<8U{zecR::z=1neNU{0}
C'={zeR:5<x<8U{0}

Fr(C)={5,8U{z€eR: :x =1 neNyu{0}

D' ={(z,y) eR*: 0 < (x+y)? <1 Azy >0}

D ={(z,y) ER?:0< (z+9)?<1Azy >0} =D
Fr(D)={lr+y|l=1ANzy>0}U{y=0AN —1<z<1}U{z=0A —1<y <1}
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E ={(x,y) eR2:0<a?+ 12 <16 Aw # y}
E-={(z,y) eR?: 0 <2’ +y* <16} = F'

FrE)={(z,y) eR*: 22+ 32 =16 Vy ==, —2\/2 <z < 2/2}

FOZ{(m,y,Z’u)€R4:1<x2+y2+22+u2<4}
F’:{(%%Z,U)ER4:1§x2—|—y2—|—22—{—u2S4}U{(0,0,0,0);(1,0,070);(1’1,1,2)}
F/:{(nyazyu)€R411§x2+y2+22+u2§4}

Fr(F)={(z,y,z,u) eR' : 1 =22 + > + 22 +u> Va? +y> + 2% + u*> = 4} U {(0,0,0,0)
;(1,0,0,0);(1,1,1,2)}

2.

(A)D = {(z,y) eER?: 2° + 9> <1 Ay # — =z}
D™ ={(z,y) eR?: 2 +¢y* <1} = D'
D ={(z,y) eR?: 2?2 +9?> <1,y # — 2z}
Fr(D)={(z,y) eR*: 22+’ =1Vy= —z}

(ii)D = {(z,y) e R*: (x = 2)  + (y +1)> > 25} =D~ =D’
D" = {(z,y) € R?: (x —2)> + (y + 1)? > 25}
Fr(D)={(z,y) e R?: (x —2)* + (y + 1)* = 25}

(iii)D = {(z,y,2) ER*: 0 <z +y+z<n}=D
D ={(z,y,2) eR*: 0<x+y+2z<n}=D'
Fr(D)={(z,y,2) eR®*: 0=x+y+2Vae+y+z=rm}

(iv)D = {(0,0)} = D~ = Fr(D)
D =0

— D’
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